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1. What happened in History?
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1. What happened in 
(Econ.) History?

• Not much

• Essentially, a period of low growth rates (perhaps since
the 10,000 bC (Neolitihic) was replaced 200 years ago by a period
of high growth rates

•In the words of the Nobel-prize winner Douglass North :

• “If we make a new 24 hour clock for the time of civilization (...) the last 
250 years – just 35 minutes on our new 24 hour clock – are the era of 
modern economic growth”

•This pattern is known as the ‘ hockey stick’ (See Also Text 1, 
Figure 1)

• Explaining this shape is the essential question of Econ Hist
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Econ Hist in 1 Graph
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International dollars are a hypothetical currency used for comparison of living standards 

across time and space. International dollas are adjusted for inflation within countries 

over time and for differences of cost of living between countries. International 

dollars is a unit whose purchasing power is fixed, so that 1 international dollar can buy 

the same goods and services anywhere. Four hundred 1990 (or GK) international 
dollars is the subsistence minimum.



Modern Economic Growth
In aggregate terms, Modern Economic Growths displays three 
features:
oGrowth in the total volume of output (from 1800 to 2020, world GDP 

increased by a factor of 50)

oGrowth in total population (from 1800 to 2020, world population 
increased by a factor of 7, from c. 1 to c. 7 billion)

◦ Growth in per capita income (from 1800 to 2020, average per capita 
income increased by a factor of 10, from c. 700 to 7000 GK dollars)

(Recent concerns also brought to the fore the issue of pollution, 
which increases in tandem with economic growth )
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Econ Hist in 1 Graph
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Inter-regional spread is

the ratio of the highest

income to the lowest



11% 

(10% in 2019)

77%

(90% in 1800)



Low productivity = low specialization
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• Natural resources constrained per capita output = 
low productivity

• Low productivity meant that there was little scope 
for specialization of the world economies

• The largest world economy in 1700 (China), 
foreign trade (exports of silk, china, tea, lacquer, 
pearls and imports of silver) represented about
1% of GDP



Low regional specialization
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Source: OZMUCUR and PAMUK 2006

Prices of Meat in 8 European cities, 1500-1800

Wide price diferences 

in non-tradables within

the most advanced

region of the world, 

implying lack of trade

and, hence, limited

scope for specialization



Low specialization = little world trade
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Wide price

diferences also

in absolute

advantage tradable

goods that were

transported across

the world

Source: O'ROURKE, K. H., & 

Williamson, J. G. (2009). 



2. A Theory for Stagnation
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The main World Economies

1 1000 1500 1600 1700 1820

India 29 34 61 74 91 111

China 34 27 62 96 83 229

Europe 14 11 44 66 81 159

Source: Maddison Homepage
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GDP (in million 1990 USD): India, China and Europe



GDP per capita (in 1990 USD): 
India, China and Europe

1 1000 1500 1600 1700 1820

India 450 450 550 550 550 533

China 450 450 600 600 600 600

Europe 576 425 797 888 1.028 1.234

Source: Maddison Homepage; 
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The main World Economies



What happened in (Econ.) 
History?

• The period before 1800 (or 1815 or 1820, depending on the authors) 
was one of overall growth
• As measured by the real GDP (the monetary value in real terms of all

goods and services produced in a given economy in a given year) 

• Yet, this overall growth was not accompanied by growth in 
productivity, as measured by GDP per capita, which stagnated (India 
or China) or grew at a low pace

• Thus, GDP growth was a function of ...(see next graph)
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Population (in millions)
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Malthusian theory: 
the problem 
is natural scarcity
• The Malthusian Model instead states that 

increases in output lead populations to 
increased their fertility

• This increased fertility, however, is not 
sustainable as at some point it will clash with 
natural resources (food)

• When this happens, mortality will go up and 
population descend back to a sustainable 
level
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Decreasing Returns
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•The key assumption of the Malthusian 
model is that per capita income does 
not increase proportionally to the 
increase of the Q of labour (or capital)

•In an essentially agrarian economy, 
the increase in labour leads to a 
decreasing marginal output.

• This is called the 'decreasing returns'



An example of a Malthusian regime: 
Portugal, 1527-1850

“Portugal’s favorable circumstances by the mid-eighteenth century (...) were not to last. In the 
very long run, the economy conformed to the predictions of the Malthusian model. Despite 
variation in response to shocks, income reverted back to what could be interpreted as a long-term 
“subsistence” level. (...) the forces of convergence to such a steady state did include endogenous 
fertility and mortality responses in the spirit of Malthus” (Palma and Reis, 2019).
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